| Efficiency vs Dxy |
> 0.5
<

L R

S A T 1 RO N
S S N
JE i ot S SR SO 3 e e
E r . . . . . . .
(] I S S I N SRR || S S O S S

o
w
I

0,255t

=
!
'
N
z-

095545155 0 B 16 18 20
TP dxy (cm)

-TestLowPT_1000evt
REFit-testLowPt_1000evt
REFit-OR-testLowPt 1000evt
REFit-ORK-testLowPt_1000evt
REFlt OR4 testLowPt 1000evt

—a— D

—o— D

| Efficiency vs Dz | |—— 1B
0.8 —2

nmnmmT

N [ j .

© L : :

°© F

2 0.7:— """"" o A e

O » . :

c - N N

) T

S OF : :

= - : :

(<] 05_— --------- - -------- - ---------------------------- R EEET TR
1 S TR N T —
O =
O R N IS SIS SR
O Rt S e + --------------------------

r\:llllE||||||F|+|*|**+|“#|"|||||| L1

o ¥ :

T

' L

1_— ------------------ P B ] P S TR [ TR

093556 10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


